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NOVEMBER/DECEMBER 2019

BBA42 — MANAGEMENT
ACCOUNTING — II

Time : Three hours

Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.

B ; Define "Budget".

suenrru_[gy "ﬂl_uo

(persewtlliL] Gresmme) ereme?

Mention two limitations of pay-back period
method.

Soou  Qegsgin  woplear gCsaib  @rard
@&DUT(H&EET & 0. e

A project cost Rs. 2,50,000 and yields an annual
inflow of Rs. 50,000 for 7 years.

Calculate its pay-back period.

@0 Hlé dsaay @. 2,50,000, ipaew opam@
vewr. GQesaflii® uewr whiy . 50,000 @& aqp
D@(HHEFHEG ML Hlpbu @6@]5@& stmgj {PEVLD

SMaLD sersd (5.
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10.

=l

Write a short note on contribution.

Ay GOUY eueors "UikiEs Asmans!.

What do you understand by "profit-volume ratio".
@eru-slere] el dsn Ln vsquisug,i crena?

Werite a short note on "limiting factor".

"apsSlu smyentl” LHH Amy @@uu UM E.

List out any three name of application of marginal z
costing technique. &

(2
; o
Bnd Hflee I ssclmouiar b ukisaiar gGseg 2
5 & * . . 3
gpem) Guwrseer &I L auemearliL(HiSE5)s. 5& <
: N\
Define variance. &

euenywm "wrmiur®'.
What is Tdle time variance?
s oAy LImLUTEH erempme erenen?
SECTION B — (6 X b = 25 marks)
Anslwer ALL.queétions, either (a) or (b).

(a) What are the benefits of zero base budgeing?
Lpga gl <l iuenL_ulemer AL ger
FBeTanDEET WTEel?

Or
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15.

em <pooullar @@ wrsdnsrar Hlanaiimer

Qeevafeaib ep. 50,000. A erameb Gummetlar em

uriflpsrs umselly . 50. B eremayid

Qummeflar @@ undbsrar ukseaflly . 25.

Gemaumld swmliy seemeusafian Sidls WwaEe

(@leomLitb) eréled 2 GaTg) GTa HTewTs. '
(@) 800 A iy 1000 B 2 drer_édlwis)

(i) 1500 A wi Gid

(i) 3000 B (b

(iv) 1200 A wmmib 400 B a_-shml;ésé.]u_:g,].

(a) From the following particulars calculate
(i) Material cost variance

(1), Material price variance
Standard Actual -

x40 kg at Rs. 11 50 kg at Rs. 12

y 60 kg at Rs. 12° 80 kg at Rs. 14
emau(mib sseusl(bHg) samss (s

1) quu@urr@ei:r 2L &saillanay Lormum®
(i1) {y:;suu Qumrmer eflene wrmuTG '
hlaneowimeng) 2 GWTEnLOIMEUE)
x40 G 6imid ep. 11 - 50 fCar aizd om. 12
y 60 fiGar el (. 12 80 &G eisid ¢m. 14

Or :
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b)

From the following particulars calculate
(i) Labour cost variance
(i) Labour rate variance

Standard hours 12000 hours

-Standard rate Rs. 5 per hours

Actual hours 15000 hours

Actual rate Rs. 6 per hour.

Qetmeu(nid o9 Liyrisetembe) semméd (s

1)  Qsmferert 2L sseilana wrHLITH

(1) &ned eis wrmLITEH

Baeawirer GCryriser 12000 CrrEiser

hlenewirer gnell ell5i0 om. 5 e(m wenfl CrrsdlHE
o anranLowinen Grymiser 15000 Gpymiser

o areniowiner &ned oSl&lsd (. 6 @@ enfl
Crrs8n® -
SECTION C = (3 %X 10 = 30 marks)

Answer any THREE questions. |

16. Explain the essentials for an effective system of
budgeting.

FLs  sl@uuriypsrtar  paGamur@aer UDHM

eflsuf&s. |
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12.

(a)

(b)

A project requires an investment of

. Rs. 5,00,000 has a scrap value of Rs. 20,000

after 5 years. It is expected to yield profits
after taxes and depreciation during the
5 years amounting to Rs. 40,000, Rs. 60,000,
Rs. 70,000, Rs. 50,000 and Rs. 20,000
Calculate average rate of return on
investment. '

em SHisda @ 500000 (sl

G’ L g 5 syar@aar sWlbs e 2ibs

wpesdligear  erdwdiy @ 20,000, <ps
psediigen Cainnend wHmb euflser Cleaisdis
Gm@ 5 2L (D& EnEE TS TUMTSED L Sonly
@amud . 40,000, (5 60,000, . 70,008
e. 50,000 wpoitd ¢p. 20,000 erer Qsmers.

T

(00'
‘ . . 3 &y,
gymefl eumeuml eilg (pepm epeLd @ﬁGﬁLm1_\‘. .

&S (H6. -
Or
; Rs.

Initial investment = 1,80,000
Life of the asset = 4 years
Estimated net annual cash flows

Years  Rs.

I 45,000

II 60,000

111 90,000

IV 60,000

Calculate internal rate of return.

4 ; 1276

20.

@@ Spiwb 20,000 QNG pusdH Qauw jereilne

5@&F umL5sg sHGUrgE 10000 D@ LLEL G
s dpumer gy 1.25 &isb swumisg eHpuener
Qe mg). Gummeen 2iL_ssedlame 1eraumLomm

(.
ppeo L@ Limmerr "1,000
Qariflevmarit gaad . 2,475

wrou@ELD CFwelend 1,170
Hlanawirer Gaaeiad . 7,956
12,600

—_—

Bmiod, -CuphGeramear @Gflamoudle o Qui(meT-

2 HusH efpuemen Qewey m. 75 ez (ewuem) 10,000
S@ser 2 pHusH edpuenar GFwiw polL b GCarilsms
aeusSlpgl. QEMmaT HEMILT aranLigl Ghlsg) sMlersEs.
Using the following information, calculate the
labour variance '

Direct wages Rs. 3,000
Standard hours produced 1600 hours
Standard rate per hour Rs. 1.50

Actual hours paid 1500 hours, out of which not
worked are 50 hours (abnormal idle time).

13 1276
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17. What are the internal rate of return and net

present value for the following projects.
Year Project A Project B

Rs. Rs.
0] -12,000 —27,000
1 +4,000 + 10,000
2

_\\

2\

2° . +4,000 + 15,000 éz‘f‘ =

i /2 «L,%‘ \
3 +6,000 + 15,000 sl —\\\
The cost of capital is 10%. Which project do yom\z ,‘1,\ w©
select on the basis of each criterion? o"?s AEE o
D /S

sCp Qen@ssiiuls Sl ksense o.dmer Gl et o

QUG (penp eipautd, Hmid Bl sHGLmengw Ll hS___f,//

(LPED P&ULD GanTédl (P,
QIBLLD i A gliibB .

. O-

0 —-12,000 -27,000
1 +4,000 + 10,000
2 +4,000 + 15,000 .
3 +6,000 + 15.000
Cravay PGV FHETLD 10 al(WaET[H Gren
6USHF) &0 S TenT_Ted el Qeur(m FLL gdle
| lg UL uled ihrElgeT &TIH% AL sans
Cablls® &8 diser, ;
10 1276

P, Q eenguib @ran® GQumasaemar Blpieuartd

swTi&SDg) <ig LhHlu efumd GenemLomnm)

Qummar P Qumer Q

el HLiena 6%leney 5. 8 e5. 12
mn@u@m'@meﬁlwm .4 . (5. 6
\Blememy 5lerey b s@sdar 10 seser

(b)

WlensmyLd UDDTG®D eTaTUms Sna| Eryenflrs
Qsrers. P wppgd Q@ @enuler o erer Geornu
Gl LILIBISEET S 6DLWITETLD &Teirs,

Or
The fixed cost per month in a factory is
Rs. 50,000. The contribution per unit ‘is
Rs. 50 for product A and Rs. 25 for B. Which ,
of the following product mixes is most
vielding.
() 800 A and 1000 B
(i) 1500 A only
(iii) 3000 B only

@iv) 1200 A and 400 B.

7 ' 1276



ECp odrer eflunkisafed s Ggmpleomant wmmLmQ)

Gemr ) (1)5.
GrBirig. sned) em. 3,000
2 MBS Cameuwirar Hlenawirean Cpyid 1600 hours
W - R Loantl Crirss)|d @ o awr_rer :
Heewrer efsn © . ¢p. 1.60

2 G GNLDILITGYT (‘o’;ﬁmb 1500 Cpprser Gaaalriul i g.
@dler 50 Cprasar Goumaude Ceueawim ser
FFHILILelebene.

e 17 A\ Gl 1
i : . 3 \\?QE _

epoLdurmar  eflena (G HGor) Qummerx QLT y

Ll

14 . 1276

"(b) Prepare a material budget from the following
information requirement for 100 units of
production

Material Rate per kg Product x Kg Product y Kg

Rs.

A 40 20 40
30 JO 10
20 | 40 30

Production x : 40,000 units y : 1000 units.

- Garaumd ssamhs s&sm@LmLG6r F: M)
purflés 100 owE  cpusd Qsiw
GCaenauwimeng) '

1. &Car  HGem
A g 40 20 40
SoE e e % 10
© E o 40 30

e pusdl x = 40,000 @qm@ém y = 10,000
DI (GEET. '
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19.

STESE ()&
(=) @eru sjenay el dzn

(<) @emu-BLLbhHn Leref

(@) e 40,000 @amib mliL efiuemer eraielore

GuonGamerer Geuamr(ib.

() 5. 250,000 efpueer miigeanmed @emuib

6TELGUETG

(2) @rem@® s SLL Gl 2 6rem mmu@d G]Esueé:

GTEIGUGTEY.

A company has to eapacity to ‘produce 20000 units. \,\\ e

At present it is 10000 units produced and selling

at Rs. 1.25. cost price is as follows

Rs.
Material 1,000
Labour 2,475
V.ariab"le expenses 1,170
Fixed expenses 7,955

12,600

State whether the company should accept the

order of 10000 units at Rs, 0.75.

12

1276

: 5.
BleU5s (LpSed(H = 1,80,000
Qersglen pu srewb = 4 e ser
TETUTTSEEGLD g6 Bar Arrésto
LD @

I wpgemd <pem@ 45,000

IT @pawrimib <per® 60,000

III gpemprid spemr@® 90,000

IV prarenb <pemr@® 60,000

26T GilgSHET e el (e epaib seméd ().

N Rs.
Fixed cost - 1,20,000
Variable cost 7,60,000
Sales 10,00,000

Calculate
(i) Break even point
(i) P/V ratio.
) €.
Blenowiren Qsevelens  1,20,000
wrpu@b Gsealarns 7,60,000
&l Lieneor 10,00,000

senrsdl(Hs

0 - Qeru-plLiwopy Ldref

(i) Qeru jere, 6l &l 5LD.
Or

B - 1276



(b) Examine whether the following equations
are correct X

__contribution

i Sale
® E P/V ratio

P/V xatio

(i) Contribution =
. Sales

Iﬁ] - . 5 = //? \\‘
eneU(BLD FLanUT() FfLUTETS IS Grar <, Tmis. s 1ai B
LN '-}e‘_ At ar e
& }
: : UmIEeTL _ S 57
1)  eflpueer = = = /,n

Bleon =jerey ef&sLD
QML Sjeray 65l HLd
G e R i
) . &flpLianar
14, (a) There @are two products P and Q
manufactured by a concern. The following
particulars are given
Product P Product Q
Sales price Rs. 8 Rs. 12
Variable cost Rs. 4 Rs. 6
Power consumption 5 units 10 units

There is shortage of power which is the

limiting factor. Identify preference between
P and Q. S50

6 1276

18.
T
.\';-i_;, r_i'; b
—~da

The sales and profit during two period of years
were as folows. '

fear Sales Profit

Rs. Rs.
1988 1,560,000 20,000
1989 1,70,000 20,000

You are required to calculate
(a) P/V ratio
(b) Break even point

() The sales
Rs. 41,000

required to even profit of

(d) The orofit made when sales Rs. 2,560,000 "

(e) Varizble cost for two periods.

Qran(® emheerERmLGL e drer efhLiemen WHDID
@enub G AaTEsiur{erers

amLd ellpuamer Gamuw
- (.

1988 1,50,000 20,000

1989  1,70,000 20,000
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